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1. X%+ ax+ b , a b , a= 28 b= 201k A= a’- 4b
. ab= 2%, = 2% 4" 2 2T 20, 2% 22013- k,
k>203£= 671, k<2011, k 2011 -
2. 1, 1 0
ABC H 671+ 1= 1341 . k
A ABC , AL , 1341
OH, BC=
3 R s 2. , 0 H
Flx)=x®  glx)= 24 2m. ABC . A0 N, AH
1 A A
) , ZANC= ZABC, ZCAN= ZBAH,,
PR ' AL AABC . Zl= 22
4. tan37.5 = _ AP LOH, AH=A0= 1.
1+ BO M, AM CM CH,
5. f(x)= 13 Si(x)=f(f(x)).fn(x)
x AMCH ,
=f(fai(x))(n=2 3, ), fou(2011)= . CM= AH=A0= 1, BM= 2,
( 15 )D AABC BC . AMBC .
ANABD  AACD Iy, Iy, BC= PP 1= f3.
01, 02, (11007 (102)7= (Ii]2)*. 4. 1 RuAADB,  ZADB=9G,AD= 1
( 15 )n s n! = 1x2x3x AB=2
X 1/ = 1,2 = 1x2=2, 3] =1x2x3=6
n, , ’ ’ ZB=30°,BD= 3.
X
[a] a . [1_,] + BD C, BC=2  DC=2-[3
. . . . AC, ZACB= (180° - 3(f ) +2= 75.
o & s o | 2 | 2 = 2010
2! 3! 10!/ 11/ ZACD AD E,
ZECD=37.5.
(15 ) oo 3 AC= AD*+ DC 4 (f
2 L, n = 1+ (2- .3)%= 8- 4,f3,
« n ”' 1 R -
« » 25 AC: 8— 4J§ E 4
n s n B C
D
_ = J6-2 J12+2 4
N 2
(15 ) F:RTR, - [ £
1 1 1
vy o (xy)+ S (xz)= f(0)f (y2) 2 = Jo- 2. ’s
[1Xf(1)]+[2% f(2)]+ [3% f(3)]+ ot [2011x , =1L
f(2011)] . a [a] a AE+ ED _AC+ DC
ED ~  DC °

: zxss. chinajournal. net. cn () 3 1 () : zx ss@ chingjournal. net. cn



+ 2011 9 < 05 ()

ED_ _AD _ AD R(A, 60), AABD AACD, ZADC +
DC™AC+ CD™ [o- 24 2- [3 ZAD,C= ZADC+ ZADB= 180, A DC D,
I S 0 AADC 0
= = (3= )02+ 1), : : ! : !
(f3+.2)(2- 1) R(A, 60)
ED —)02, A01= D01= A 022 D02= 0102,
tan37. §'= o= (3= [2) (2+ 1) Z0A 0= Z0,D0y= 66.
- 6.2 [3 [ ZAO0102+ ZACB= 120+ 60 = 1807,
2 ABC, 0, AACD ©0,
Z£C=96,AC= BC=1, 4 ZALD= ZABD+ 5(18F~ ZABD)
AB= [2. 1
_ o =600+ = x120°= 120,
ZCA D= 30, 30 - >
CD_'EAD_ 2'3 [1 @()2 B 4()][11): 1800—
3’ 37 Z0,AD= 180 - 30°= 150,
ZDAB=15. c S Z1,0,D+ Z1,D0,= 180 - 15F = 3.
ZBAD AE, X I, AABD ©o0, ,
CE= x, ZDI,0,= 150.
BE= 1- x, DE= x- tBE Z1,DI,= ;—x 18G= 96,
E Z1:D0,+ 21,00, = Z1,DI,— 20,D0,
o
1- « =90 - 60° = 3(F,
2—£ 2 Z1,0,D= Z1,D 0.
AO\D A DLO, |
Bl (B UGB- ) " .
= ﬁ+ ﬁ_ 3_ 2 01D= DOQ,
Z0,1,D= 2DI,0.= 15¢,
_ Jg_ 2+ ﬁ_ Jz 141 2U2
£1,0,D= £1,D0,.
tan37. 5 = —= T_ -2+ 3- 2. A0, D2 ADI,0,. B
1,0,= DI,
5. Flx)=folx)= 22 e 4
DIi= 120:.
R Z1,Dl>= 96, A1,DI,
[ -
Fi(x)=f(f(x)= vy DL (DL = (1),
=3 13, 1,0,= DI, DI,= 1,0,
1- x ([101)2+ (1202)22 ([1[2)2.
. 1+ 3
fox)=f(fi(x))= e x 351 = [x],
+ 3 1/
1+ 3x
[ ] [ ] [ ] [_]
'3 Sx)=f(F2(x))= E ()= fol0);
+ B l+ X jco011 5—’“< 2012 L
4 f4(X)=fl(x),fs(x)=fz(x),fo(w= g -3 T
£ Fa(x), com fa(x) , 3 x 0< x< 1207. 5.
6/ = 720, 7! = 5040,
<z -1 x< 7!
'i s S0 (%)= faxene1(x)=f1(x)= 1+3x v
Fan(2011)= 2001 2010 1005 [371= 571 = [57]= [7o7)= [ y7]= O-
o 1+ 3% 2011 6034~ 3017
| o N VA e A e A iR b
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[6"—!]: 2011
7! x s

P5(k=1,23,4,5.6)
6x_ 6”0<r1< 6/, (0<a<6 aENﬂ)

[&]=a ©

=

Q

6a+ L= 6a+ bt 2, 0<r< 5!, (0<bKS, b

a_
507 %% 5] 5
EN).

[§‘7]=6a+b @

= 30a+ 5b+ r—z— 30a+ Sb+ c+ 2 0<rs< 4/,

4/ 4!’
(0<c<4, cEN),

[j—!]: 30a+ 5b+ ¢ ®
;—— 120a+ 20b+ 4c+ ;—3,— 120a+ 20b+ 4c+ d+
;%,,0<r4< 31, (0<d<3.dEN);
[3’“—!]= 120a+ 20b+ de+ d @
2—,: 360a+ 60b+ 12¢+ 3d+ r—4= 360a+ 60b+ 12¢
+ 3d+ e+ ;—, 0Srs< 2, (e= 0, 1,2);
[2’“—!]= 360a+ 606+ 12c+ 3d+ e ®

lx—— 720a+ 120b+ 24c+ 6d+ 2e+ ;—5,: 720a+

120b+ 24c+ 6d+ 2e+ f, (f=0,1);

[ 1] = 720a+ 120b+ 24c+ 6d+ 2e+ f ®

O~ ® 1237a+ 206b+ 41c+ 10d+ 3e+ f=
2011.
a= 1, 2060+ 4lc+ 10d+ 3e+ f= 2011
~ 1237= 774;
b= 3, 4lc+ 10d+ e+ f= 774- 206%x 3
= 156;
=3, 10d+ 3e+ f= 156— 41x 3= 33;

d= 3 e=1,f=0.
x= 1% 720+ 3% 120+ 3x 24+ 3x 6+ 1x
2+ 0x 1= 1172.

x= 1172 [ ]+[ ]+[ . +[10,]

+ [11,] 2011
s Moin > 48,

5, 5 AB, A
B s 05 , ,
24 s 48 (
3 2 1), s

1 s 25 s n>
48.

5
NMymin= 49
n= 49, A , A
1 o4, A,
A
A, B 1 OB, A B
1( 6), A, B 47
P A B 3 ,
1, PA <1, PBL1, P
o4 ©B )
47 24 ,
oA, A, 25
1 04 ¢ )
n 49.
6
f:RT R,
1 1 5
.Y,z S (xy)+ S (xz) = f(2)f (yz) 2
x=y=z2= 0,

S0+ A (0)= (£(0))* >
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[f(O)— %] <o,

J(0) ;

x=y=z= 1,

/(U 2 (U= ([ (1)) >

[f(l)— 1 <o,

F0)= 5

f)= 7
x, f(x)?é— @
0@ | x f(x)= T
flx)= & ,
, flx)= >

1
(1) . f(Y= o
y=12=0, [IXF(U)]+ [2% f(2) ]+ [3% f(3)]+ -+t
1 1 1 2011 x £(2011
/(0 + 5 (0= f(x)f(0) > 201> £ (201D
[ 3133 [
1 ) 2 2 2 2
f(0)=
=0+ 1+ 1+ 2+ 2+ 3+ 3+ ...+ 1005+ 1005
w. f(x)<5 ® = 2X (14 2+ 34 .t 1005)
= ( 1+ 1005) x 1005
y=z=1,
1 1 >1 = 1011030.
S (0)+ f (x)= f(x)f (1) 2 (T EE L EAER ARAL)
(E#EF 43 M)
, . o
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3, 1,2,4, 31,42 32 14 3,2
4,1, 3,4,1,2, 3 4 2 [ L. ;
L1, 23, 4,1,3°2, 4,2 1,3, 4,2 3, ;
1, 4,3, 1,2 43 21 2. . ,
) " ", 1500 ,
2 ’ 6 s
3, 1, 2,4, 3, 1,4,2 3,4, 1,2, 41, 3 300 400 ;
2,3, 4,1, 3 2, 5 R ( 40 )
11 ;
24" ,
:3, 2,1, ;
4, 3, 2,41, 3, 4,21, 4.2 1,3, 4 2 3
15 45 35 15 25 6 . ’ 4.
1
e
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4,3 2 1,
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